Service Provider: Tigers Childcare- Bawnogue

Programme Year: 2025/2026

Status: Active

Fee Options

Fee Type Name	ELC/SAC	Age Range	ECCE Available?	Session Start Time	Session Finish Time	Second Session Start Time	Second Session Finish Time	Incorporated Services?	Choose Incorporated Services	Additional Information	Hrs:Mins per Day	Days per Week	Hrs:Mins per Week	Weeks per Year	Full Fee	Fee (with ECCE deduction for 3 free hours)	Effective From	Effective To
After school care/ BC and Camps (Term Time)	SAC	5y - 12y	No	08:00	09:30	13:45	18:30	Yes	Meal	After school care/ BC and Camps (Term Time), Mont hly fee €600. 00, weekl y fee €141. 18	6.15	5	31.15	51	141.		28/07/2 025	30/08/2 026
After school care/ BC and Camps (Out of Term Time)	SAC	5y - 12y	No	08:00	18:00			Yes	Meal	After school care/ BC and Camps (Out of Term	10.00	5	50.00	51	141. 18		28/07/2 025	30/08/2 026

										Time), Mont hly fee €600. 00, weekl y fee €141.							
After school care/ BC and Camps (Term Time)	SAC	5y - 12y	No	08:00	09:30	13:45	18:30	Yes	Meal	After school care/ BC and Camps (Term Time), Mont hly fee €519. 00, weekl y fee €122. 12	6.15	4	25.00	51	122.	28/07/2 025	30/08/2 026
After school care/ BC and Camps (Out of Term Time)	SAC	5y - 12y	No	08:00	18:00			Yes	Meal	After school care/ BC and Camps (Out of Term Time), Mont hly fee €519. 00, weekl y fee	10.00	4	40.00	51	122.	28/07/2 025	30/08/2 026

										€122. 12							
After school care/ BC and Camps (Term Time)	SAC	4y - 12y	No	08:00	09:30	13:45	18:30	Yes	Meal	After school care/ BC and Camps (Term Time), Mont hly fee €390. 00, weekl y fee €91.7	6.15	3	18.45	51	91.7	28/07, 025	30/08/2 026
After school care/ BC and Camps (Out of Term Time)	SAC	5y - 12y	No	08:00	18:00			Yes	Meal	6 After school care/ BC and Camps (Out of Term Time), Mont hly fee €390. 00, weekl y fee €91.7 6	10.00	3	30.00	51	91.7	28/07, 025	2 30/08/2 026
After school care/ BC and Camps	SAC	5y - 12y	No	08:00	09:30	13:45	18:30	Yes	Meal	After school care/ BC and Camps	6.15	2	12.30	51	61.4	28/07, 025	30/08/2 026

(Term									(Term							
Time)									Time),							
									Mont							
									hly fee							
									€261.							
									00,							
									weekl							
									y fee							
									€61.4							
									1							
After	SAC	5y -	No	08:00	18:00		Yes	Meal	After	10.00	2	20.00	51	61.4	28/07/2	30/08/2
school		12y							school					1	025	026
care/ BC									care/							
and									ВС							
Camps									and							
(Out of									Camps							
Term									(Out							
Time)									of							
									Term							
									Time),							
									Mont							
									hly fee							
									€261.							
									00,							
									weekl							
									y fee							
									€61.4							
									1							

Fee Extras

Туре	Extras	Amount	Frequency	Other	Description	Additional Details/Conditions	Effective From	Effective To
Deposit			Once Off		A booking deposit, of 100%		28/07/2025	30/08/2026
					of fees per child is required.			
					The deposit will be			
					returned within 4 weeks of			
					your child taking up their			
					place at Tigers Childcare. If			
					your Child is offered a place			

		and doesn't commence at the service your deposit will be forfeited		
Discount	Once Off	Staff discounts are granted at the discretion of the company. Discounts will vary depending on seniority of the staff member.	28/07/2025	30/08/2026
Discount	Per Term	5% sibling discount is available to families availing of full-time care for two children. 5% Discount applies to second child.	28/07/2025	30/08/2026
Discount	Per Term	10% sibling discount is available to families availing of full-time care for three children. 10% Discount applies on third child only.	28/07/2025	30/08/2026
No Optional Extras		,		